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Section A. Multiple Choice
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10.	Refer to the following information and answer questions 16-17.
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12.	Refer to the following information and answer questions 18-19
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14.	Refer to the following information and answer questions 20-21
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Section B Short Questions
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7.
X, Y and Z depart from place A at the same time and travel to place B. 
If the times taken by them are in the ratio 12  10  15,
(a)	who arrives at place B first? Why?
(b)	what is the ratio of their speeds?









8.
	
	
	The heights of Kenneth, Alex and Ivan are in the ratio 4  3  5. If Kenneth is taller than Alex by 
35 cm, find the heights of Alex and Ivan.











9.
The selling price of an electrical appliance is $1 416 if it is sold at a profit rate of p%. The selling price is $984 if it is sold at a loss rate of p%. 

(a)	Find the value of p.

(b)	Find the cost of the appliance.

(c)	The marked price of the appliance is set with a 25% profit on its cost. If a minimum profit rate of 6.25% is wanted, find the maximum discount rate in selling the appliance.















10.
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The above figure shows a rectangle ABCD. The coordinates of vertex A are (3, 2). AB and DC intersect the y-axis at points E and H respectively. AD and BC intersect the x-axis at points F and G respectively, with AB // FG. It is given that the area of rectangle FGCD is 3 times the area of rectangle ABGF, and the area of rectangle ADHE is 3 times the area of rectangle EHCB.
(a)	Find the coordinates of B, C and D.
(b)	(i)	Find the perimeter of rectangle ABCD
(ii)	Find the area of rectangle ABCD.

















11.
Suppose the cost of painting a wall is in proportion to the area of the wall. Given the cost of painting a 28 m (length) by 2.5 m (height) wall is $5 000. There is another wall of which the length is 50% longer and the height is 10% shorter than the wall mentioned above.
	(a)	Find the ratio of the area of the new wall to that of the given one.
	(b)	Find the cost of painting the new wall.
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(a)	In the figures above, 
(i)	which one(s) possess(es) only reflectional symmetry but do/does not possess rotational symmetry?
(ii)	which one(s) possess(es) only rotational symmetry but do/does not possess reflectional symmetry?
(iii)	which one(s) possess(es) both reflectional and rotational symmetries?
(iv)	which one(s) do/does not possess reflectional symmetry nor rotational symmetry?
(b)	In each of the above figures that possesses reflectional symmetry, draw all the axis/axes of symmetry using dotted line(s).
(c)	Find the order of rotational symmetry for each of the above figures that possesses rotational symmetry.
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A cup is sold at $68 with a loss rate of 20%. A plate is sold at $45 with a profit rate of 25%. What is the profit rate or loss rate of selling a cup and a plate altogether? (Give the answer correct to 2 decimal places.)















14.
The labour fee and cost of material are 60% and 40% the total cost of producing a furniture respectively. The furniture produced is sold at a profit rate of 35%. If the labour cost increases by 20%, the material cost decreases by 10% and the selling price of the furniture increases by 15%, find the new profit rate.
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John lost 3kg of his weight last month. What was the percentage change of his
weight if he was originally 75kg?
A. -12% B. —4% C. 4% D. 12%
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The price of a toy is marked 20% higher than the cost. If it is then sold at 10%
discount, what is the profit % provided that the cost is $200?
A 8% B. 10% C. 16% D. 30%
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The table below shows the lessons conducted by 20 teachers on Wednesday.
Find x.

Number of lessons | Frequency
4 2
5 5
6 X
7 5
8 1
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Given that3a = 8b and 56 =3¢ . The ratio of a:c
is
A. 122
B.2:1
C.8:3
D.8:5
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. If US$50 can be exchanged for HK$390,
what is the exchange rate of Hong Kong
dollars/US dollars?

A.HK$0.12/US$
B. HK$3.30/US$
C. HK$7.80/US$
D. HK$8.90/US$
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‘Which of the following data is NOT
continuous?

A. The number of audience of a film.

B.  The time that Jacky spends watching TV

each day.
C. The daily humidity.
D. The area of Hong Kong Island.
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The table below shows the weights (in kg) of 30

students in a class.

Weight (kg) | Frequency
36-40 4
41-45 6
46-50 9
51-55 5
56-60 4
61-65 2
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Find the class mark of the third interval.

A. 46kg
B. 48kg
C. 50kg
D. 53kg
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Find the lower class boundary of the fifth
interval.

A. 555kg
B. 56kg
C. 60kg

D. 605kg
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The histogram shows the distance (in km)
completed by 100 athletes who took part in a
Marathon race.
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‘What is the class mark of the class interval

with the lowest frequency?

A.

B.
C.
D
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315km
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‘What are the class boundaries of the class
interval with the highest frequency?

A. 325km> 345km

B. 345km> 36.5km

C. 36.5km > 38.5km

D. 38.5km > 40.5km




image16.png
The following diagram shows the relationship
between the time spent on revision and the test
results for 10 students.

Relationship between the time spent on
revision and the test results
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‘What kind of statistical diagram is this?

A.

B.
C.
D

Histogram

Bar chart

Pie chart
Scatter diagram
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What is the relationship between the time

spent on revision and the test results?

A.

The score increases when the time spent
on revision decreases.

The score decreases when the time spent
on revision increases.

The score increases when the time spent
on revision increases.

The score does not change when the

time spent on revision decreases.
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Refer to the figure given below.

R Q(2,7)

S| R(2,-5)

a.  FindRQ

b. Find SR if the perimeter of the figure is 50 units.

Find the coordinates of S.

( 1 mark)
( 2 marks)
( 1 mark)
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If the vertices of a parallelogram A(2,2), B(2,6), C(7,5) and D(7,1) are reflected
in the x-axis to form A’B’C’D’.
a. Draw the parallelogram ABCD and its image A’B’C’D’ in a rectangular

coordinate plane. (4 marks)
b. Find the coordinates of the vertices of the image A’B’C’D’. (4 marks)

c. Find the area of the parallelogram ABCD. (3 marks)
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The following shows the distribution of the weights of 40 students in a Form 1
class.

Weight Class Boundaries Class Mark Frequency
(kg) (kg) (kg)

45-49 4

5054 8

55-59 16

60 — 64 10

65— 69 2
a. Copy and complete the frequency distribution table ir your answer book.

(3 marks)

b. Draw a histogram for the distribution. (5 marks)
c. How many students weigh between 49.5 kg and 64.5 kg? (1 mark)

d. What is the percentage of students who weigh 44.5 kg or more but less than
54.5kg? (2 marks)
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If A exceeds B by 20% and C is 25% less than A, find the ratio of A:B:C. (5 marks)
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In a school, the number of students in this year is 25% more than that in last year. There are 1050
students in this year. What is the increase in the number of students comparing with that in last year?
(5 marks)
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(a) Write down the data collected in each of the following cases is discrete or continuous.

(i) The lowest temperature each day. (1 mark)
(i) Owen’s total score in the mathematics examination. (1 mark)
(iii) The number of apples inside a box. (1 mark)
(iv) The weight of Form 1 students. (1 mark)

(v)  The monthly occupancy rate of the hotels in Hong Kong.
Continuous data
(vi) The number of students in the primary schools in Hong Kong.
(1 mark)

(b) The frequency distribution table below shows the marks of 36 students in a Mathematics test.

Marks |40-49 | 50-59 | 60-69 | 70— 79 | 80 — 89
Frequency 7 5 15 6 3

(i) What are the two class limits of the third class interval?

(2 marks)
(i) What are the two class boundaries of the third class interval?

(2 marks)
(iii) Which class interval has the highest frequency? (1 mark)




image27.png
A(=3,2)





image28.wmf
(A)

 

 

(B)

 

 

(C)

 

 

 


Microsoft_Word_97_-_2004___1.doc
		(A)

		[image: image1.png]





		(B)

		[image: image2.png](&)






		(C)

		[image: image3.png]










image29.wmf
(D)

 

 

(E)

 

 

(F)

 

 

 


Microsoft_Word_97_-_2004___2.doc
		(D)

		[image: image1.png]





		(E)

		[image: image2.png]





		(F)

		[image: image3.png]










image30.wmf
(G)

 

 

(H)

 

 

 

 

 


Microsoft_Word_97_-_2004___3.doc
		(G)

		[image: image1.png]





		(H)

		[image: image2.png]





		

		






image1.png
Which of the following figure has only one axis of reflectional symmetry?

—
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After which of the following transformation(s) will the size of a figure change?
1. Reflection
II. Rotation
III. Translation
IV. Enlargement

A. Tonly

B. IVonly

C. TandIIonly
D. III and IV only
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